1620305 16 OT5017

OR (3121a1)

Explain method of rain water harvesting.

Iyl ool daa- fafer $) e a |

8.  Write various objectives of preliminary survey of

waste land.
8

JoR 1 & yRfS adaur & A= s3wal
®l fad |

OR (372rd)

How local people is mobilised on co-perative basis?
Explain.

AghN AR R WA T &1 9 9Rkd
B | ATEAT B |

7. Explain the various provisions for improved seed

farming area.
8

I+1d 99 & a3 & fey (A= yaam=r @t
ARAT PN |
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2019(Odd) Old Syllabus

Time : 3Hrs. Sem - V-C(R)
Com. Dev & A.T

Full Marks : 80
Pass Marks : 26
Answer all 20 questions from Group A, each question
carries 1 marks.

Fu—A ¥ gt 20 ¥¥ & SR <, TAD 9 BT AN 13D 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B & afl uig gel & SR <, UAD U BT 9H 4 3B 2 |
Answer all Five questions from Group C, each question

carries 8 marks.

79-C & uift ufg vl @ SR <, UAS U & 99 8 F 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121an) (i)

Write advantage of night school for adult literacy
and education.

IEp HiERdr 3R e @ fag age @@
&1 o fod |

(ii1)
Write the name of various communication option

for effecting technologies transfers at grass root level.
4
S 'R ) grenfifea & gxdiarer &f
gAIfad &1 @ fag faf= 9ar fAeeat &1
am ford |
(ii1)

OR (3121a1)

Explain direct economic bearing of mixed farming.

faftra 9t & ycae snfefe SR &) =T
B | (iv)

Explain fruit rearing technique.

Bel UTol-l ddb-ild bl ATT DY |

3 16505

T feaay T 27
(31) 0, 3R Co,

(d) Co, 31X No,

(&) CcH, 3RO,

(%) CH, 3ilx Co,

What is the percentage of methane in the biogas ?

(a) 10-20%
(b) 20-40%
(c) 45-65%
(d) 55-75%

TRt A e &1 ufaera @ 27
(31) 10-20%
(@) 20-40%
() 45-65%
() 55-75%

Drip irrigation is useful in which region ?
(a) Humid

(b) Dry

(c) High rainfall

(d) None of these
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xx) ol & ST & fov feoa w@=m=
T SYAIT fHar oirar 27
(@) amg. €1 T
(@) wEetaf
(@) forfas s
() uferella

GROUPB

Answer all Five Questions.
Il uig 93 & SR < |

2. What is the role of polytechnic in community

4x5=20

development? 4

I faera d difacaa a1 & YR
2?

OT5017

(vi)

(vii)

(vii)

(viii)

5 16505

freferfRaa 1 wia wifea 21
(31) 3= wax

(@) gewr (qufe®)

(|) ¥pdf

(<) Sugaa

Which of the following is not a mosquito
borne disease?

(a) Malaria

(b) Dengue fever

(¢) Yellow fever

(d) Viral fever

fr=fafRaa 9 @ &9 78R wifa fiw
& 87

(31) weifRar

@) ST gEr

() dra sa@x

() arsRel @R

The efficiency of drip irrigation is:
(a) 55-65%
(b) 65-75%
(c) 75-85%
(d) 85-95%
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o) |l B fag Riam &1 & Sqwd @

(xvii)

(31) W= drel GHTST BT 9¢TdT _AT

@) anffe fasra &1 semar Q=T

(|) w@reed Jfaeumsn & faera &1 qerar
QT

(?) I1a e & ggTdar ]

How many types of health hazards are there?
(a) One

(b) Two

(c) Three

(d) Four

(xvii) e Aeell fhas ydR & @ar 87

(xviii)

(@) TP
@) <

(&) &=
() IR

What is the chemical process that occurs when
oxygen comes in contact with the flesh of cut
fruit?

(a) Enzymatic brownig

(b) Mincing

(c) Poaching

(d) None of these

OT5017

(x)

(xi)

(xi)

(xii)

7 16505

fafta a@dt 9 wfaa @:
(@) o3 BEAl DI AISAT JFAR ST

@) < & W A% P G AT

() &¢ O AT 3R AT Bl
qTerT i
(]) el @ ATA—WTA Geoll ST

In drip irrigation system............. not used for
controlling salt formation.

(a) HCL

(b) H2804

(c) Calcium hypochloride

(d) Phosphoric acid

fgu Riarg gomefy A BT YT THD
® o4 &l T a1 & fog T8
fopar Sirar 21

(31) HCL

(9) H,So,

(W) dferrs esUIdaRISS

(?) vrwIR® Tthrs

Which of the following is not a plant growth
regulator ?

(a) Acetic acid

(b) Auxins

(c) Gibberellins

(d) Ethylene

P.T.O
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10.

11.

OR(3721dT)

Explain the method for a pilot project on improved
land utilization by a varied crop pattern.

faf=1 v ded gRT d8a} A ST W)
U Urielc URIISHT @& ferg fafsr &1 earer
& |

Describe fruit harvesting and marketing.

Ball B derg 3R fauer &1 gofa &Y |
OR (3121a1)

Explain Rural water management for community
health and hygienc.

RIS @R IR W@oedl & fag grfion
S Ydad $I AT I |

Explain any two terms of the following :
(a) Technology invention

(b) Technology innovation

(c) Technology dissemination.

P.T.O
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10.

11.

OR (3721dT)

Explain the method for a pilot project on improved
land utilization by a varied crop pattern.

fafr= waa ded gRT d8a) A W W)
Ud Urdelc URAISHT & feorg fafsr &1 earer
& |

Describe fruit harvesting and marketing.

Bl I ders MR faueE &1 goiva & |
OR (312141)

Explain Rural water management for community
health and hygienc.

AREIR® WRAT 3R W@oodl & fag grfion
S YdEd B AT BN |

Explain any two terms of the following :
(a) Technology invention

(b) Technology innovation

(c) Technology dissemination.

P.T.O



%3038

| k)

"sassouIeME 3[eay o1qnd UO SOJOU 110YS MLIA\

(lpkE)HO

AMRE PelIBLE (B)

AMebk ®l]IBLE (B)

Aldnblle SlIBIL (k)

e

LT0SLO 81 S0S91

R0

| Bk

"SassauIeMe Y3[eay o1qnd UO $9J0U 1I0YS MLIA

(lpE)HO

AMRE PlIBLE (B)

AMeblk ®l]IRLE (b)

Adnplle Sl (k)

|k Madlke kb Loh U2 L) fb Lo DEMIRYL-

LT0SLO 81 S0S91



	1: PAGE 16 - 1
	2: PAGE 2 - 15
	3: PAGE 14 - 3
	4: PAGE 4 -13
	5: PAGE 12 - 5
	6: PAGE 6 - 11
	7: PAGE 10 - 7
	8: PAGE 8 - 9
	9: PAGE 17 
	Page 10

